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Quiz: Lesson 3

GooD JoB! YOU'VE PASSED THIS QUIZ WITH & SCORE OF 100%.
Question 1

What consequences of heavy drinking do men and women experience differently? (Select
all that apply)

CORRECT

a) Men tend to suffer more academic problems from heawvy drinking
b) women are more likely to be impaired if they drink comparable amounts of alcohol
c) Women are at greater risk for blackouts

d) Women are at greater risk for unwanted sexual advances, depression, and abusive
relationships

Question 2
what percentage of 1st-year students fail to enroll their second year?

CORRECT

@ a)12%
@ b) 20%
@ c) 33%
Question 3
Select the statemnent that is true about alcohol tolerance.

CORRECT

) a) The definition of tolerance is that at low concentrations, alcchol acts as a stimulant.
As your BAC increases, alcohol acts as a sedative.

@ b) A higher tolerance means your body gets rid of alcohol at a faster rate than others.

@ c) If you reach a BAC level beyond a normal social drinking range and not feel some
of the effects of lower BACs, you have a higher tolerance for alcochol.

Question 4

wWhat consequences of heavy drinking do men and women experience equally? (Select all
that apply)

CORRECT

a) Similar BACs when drinking comparable amounts of alcohol

b) Similar risks for blackouts

c) Similar risks for getting into fights
d) Similar risks for academic problems
Question 5

Women are more likely than men ta experience which of these negative consequences
from heawvy drinking? (Select all that apply)

CORRECT

a) Academic problems

b) Injuring others
c) Abusive relationships

d) Unwanted sexual advances




